
 

 



 

 ــ 1 ــ
 

 

□ 

□ 

□ 

□ 

 

 

 

�⃗� =

 

 
 

5 



 

 ــ 2 ــ
 

 

 

(𝑚 𝑠−1)

(𝑚 𝑠−1)

 

 

 

 

 
 

7 

𝑣  



 

 ــ 3 ــ
 

 

 

𝐹 =

 

 
 

5 

100 m s
-1 

C D 



 

 ــ 4 ــ
 

 

7 

 

 

□ π  

□ 
π

2
  

□  2π  

□ 
π

4
  

 
 

3 



 

 ــ 5 ــ
 

 

9 

 

 

ω =
 
 

6 



 

 ــ 6 ــ
 

 

 

𝐹 =

 

 
 

5 



 

 ــ 7 ــ
 

 

 

 

 

 m 𝑠−2a =

□ 

□ 

□ 

□ 

 
 

5 



 

 ــ 8 ــ
 

 

□ 
□ 
□ 
□ 

 

 

 

142.5 m 𝑠−2

 
 

6 



 

 ــ 9 ــ
 

 𝑥𝑡

 

 𝑣 = 𝑣°cos (𝜔𝑡)

𝑣 = 

 
 

6 



 

 ــ 10 ــ
 

 𝑥

a = −𝜋𝑥

□ √π

□ 𝜋

□  𝜋

□ 
𝜋

2

 

 

 

 

 

𝐽𝐾𝐸0 =
 
 

6 



 

 ــ 11 ــ
 

 

 
 

 

 

 

 

 
 

6 



 

 ــ 12 ــ
 

�⃗� = 𝑚𝑣 

�⃗�  = �⃗�  

𝑣 = 𝑣 2 − 𝑣 1

𝐾𝐸 =
1

2
𝑚𝑣2

 

∆�⃗� = 𝑚∆𝑣 

𝐹 =
∆�⃗� 

∆𝑡

𝐹 A = −𝐹 𝐵

𝑣 = 𝜔𝑟

ω =
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